Al

A NS TAlD

ZE: NAS FENL(SELX

el NS
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He
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A

SN B S (BH) - MEA Ak o e HRS2

NEEI 37,929,459 38,397,379 A467,920
= 2,740,000
& 30,284,000
= 4,905,459

KNS AE FEMNL(2ELXSHL /X ! 37,465,740 37,913,840 A448,100
= 2,740,000
2 30,284,000
== 4,441,740

NESFEHN 37,465,740 37,913,840 A448,100
= 2,740,000
= 30,284,000
T 4,441,740

AEA=EXIE NL=EXXP T2HE(=21) 17,210,000 22,846,000 A5,636,000
= 17,210,000

401 AEHI Y20 3,000,000 6,000,000 3,000,000
= 3,000,000

01 Al&HI 2,665,000 5,694,000 A3,029,000
OML=EXXF E2ME 2,665,000
= 2,665,000

02 eyl 330,000 290,000 40,000
OMNL=EIXNF S2HA 330,000
= 330,000

03 Al = 0HbI 5,000 16,000 A 11,000
OMNLEIXNF T2 5,000
= 5,000

403 XX SHHSK201H 14,210,000 16,846,000 2,636,000
= 14,210,000

01 XXM Z2E xR 14,210,000 16,846,000 2,636,000
OMNL=sdRXF E2HE 14,210,000
& 14,210,000

HZXNNYE IHEEAXF 244 11,324,000 8,824,000 2,500,000
2 11,324,000

403 TR SHEX 20| H 11,324,000 8,824,000 2,500,000
= 11,324,000

01 AIXSHHMA2EE 11,324,000 8,824,000 2,500,000
OMNLEEXNF? S22 11,324,000
= 11,324,000

AMEUEX S SELHAE 8 300,000 0 300,000

207 AN 300,000 0 300,000

01 ipEy 300,000 0 300,000
ONLHTIS SHAFHE 22 300,000

AT Al L HHHE =X 329,892 281,040 48,852

201 dEt23| 51,940 84,540 A 32,600




A NS TAlD

H: XAAE DENL(RELNANL/XALTAI)
CHel: XS RENY (el ®e
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s

01 AR 22l 51,940 84,540 A32,600
OXATAIZ0F 2R3 29 44,940
OANSE™BX S M= 5,000
OANEAS HE = 2,000

202 O4H| 91,952 93,000 A1,048

01 20t 17,952 10,000 7,952
OXIHMLAIAZE L SR 20 17,952

04 =3H0iHI 74,000 83,000 A9,000
OSAl 2 XML AR A Z AL 15,300
OZ=H&ed He #ix o 11,500
OEXI el #x 02 11,500
OMZIALI|E Y NESFEY 17,000
OMZITHL L SHTHE0F 8K 02 18,700

203 AR EXH| 83,000 63,000 20,000

03 AR ZEZAREXY| 83,000 63,000 20,000
OALTAl BEAIMEZ 60,000
OALDNEHY AMEA 20,000
OX ARSI AlRER 3,000

301 LBrEA3 3,000 10,500 AT7,500

10 BAIAHI 2 A2 3,000 10,500 AT7,500
OALTAI20F RH2Tt 312 MHA S 3,000

308 XtXIEHH SO0l & 100,000 0 100,000

01 IXSHBILNEES 100,000 0 100,000
O©Z & Eco Plus Home Fair XI& 100,000

NS SAl Z2AY X 16,948 104,900 87,952

202 04| 16,948 24,900 AT,952

01 ZU0ibl 16,948 24,900 AT,952
O TCIXtQI 2@, Al XIS - BA 16,948

E8 SRC AT 20H4 KA (2D) 1,400,000 2,000,000 600,000
z 1,400,000

403 XHXISHHIS KHE20| & 1,400,000 2,000,000 A600,000
Z 1,400,000

01 XXISHMI=EX 1,400,000 2,000,000 600,000
OSSR AT 2HA 1,400,000
z 1,400,000

SAHEFHLHA(PIS) 2E(21) 200,000 100,000 100,000
= 200,000

403 KX SHERZ0IH 200,000 100,000 100,000
= 200,000

01 XXISHI=2EE 200,000 100,000 100,000




A NS TAlD

M2 XA BHNL(ZELT ML/ NALEAI)
Sl KR E Y (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
OZAHZ2HA(PIS) 7= 200,000
= 200,000
WD Wels TABBEL N 2,867,900 3,717,900 850,000
202 04t 17,900 17,900 0
01 2Uioibl 7,900 17,900 0
OZNESYR =X 5,000
OZAME L HLAR =7 12,900
403 XHXISHH SR =0 2,850,000 3,700,000 850,000
01 MXSHIZ2E 2,850,000 3,700,000 850,000
OSAME & AU e 1,850,000
OEAIIZY HH| 1,000,000
A2 HEAZ B 60,000 40,000 20,000
201 LByl 60,000 40,000 20,000
01 At 20,000 0 20,000
O&A - RN 2R 30002] TLBA = 20,000
03 A2 | 40,000 40,000 0
OREN 2 Z& #A =T 15,000
OBTOl AAZ 2| =X 25,000
REAeIT2 PE(2D) 3,302,000 0 3,302,000
= 2,540,000
= 762,000
403 XS HSKZ0IH 3,302,000 0 3,302,000
= 2,540,000
= 762,000
01 MXSHRZ2E 3,302,000 0 3,302,000
ORFIN o1Zet 75 3,302,000
= 2,540,000
= 762,000
AAZ 2R 30002 E&(22) 455,000 0 455,000
= 350,000
= 105,000
403 XIS HSKZ0IH 455,000 0 455,000
=l 350,000
= 105,000
01 MXSHRZLE 455,000 0 455,000
O& 22 2 30002 X4 455,000
=l 350,000
= 105,000
™2 ABYI (XS SAD) (OIEHIIE 463,719 483,539 ~19,820
2g| 412,800 427,620 ~14,820
28 oAl N 412,800 427,620 A14,820




SN KIS EAID
M3 #H2SAY (NS SAID) (IIEHIIE
el ol 2| (25l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
203 PR =Y 26,640 27,840 A1,200
01 IS YR =AY 6,000 6,000 0
0= 6,000
04 EN2YARETY| 20,640 21,840 A1,200
©150101 5 250,0002 * 174 t 122 3,000
©30010] 5 350,0002 *37H T 122 12,600
©312101 4 420,000% %14 D+ 128 5,040
204 X@4AH| 386, 160 399,780 £13,620
01 HEZALLHAY] 36,600 32,400 4,200
o=g 600, 0002 1 * 128 7,200
P I 350,0009 +7 * 122 29,400
02 g2 EH| 276,960 287,580 £10,620
033 500, 0002 12+ 128 6,000
043 400,000 %6 * 122 28,800
053 250, 0002 x28% * 122 84,000
062 155,000 *41% 122 76,260
073 140,000 *36% * 122 60,480
0892 105,000 %172 122 21,420
03 SHYP+HESH 72,600 79,800 AT7,200
CIEIEET] 50,0002 12124+ 122 72,600
|22l 50,919 55,919 25,000
SheY Jl=AY) 50,919 55,919 25,000
201 LByl 39,399 39,399 0
01 At 38,299 38,299 0
oRN2Y ARl 38,299
02 IT2YH| 1,100 1,100 0
ORN2Y IT2YH| 1,100
202 Oit| 11,520 11,520 0
01 =2UHoiHI 11,520 11,520 0
ORASY ZULH0iHI 1,520




